
10 MENTAT, aRITHMRTIC.

6- A man had 300 Hliei;)), lio gold 8 out of every

100 : how ninny did ho soil ?

Sol.—He sold 8 of evory hundred ; there are

3 hundred .•, ho sold 3 times 8, or 24 (=300
X8-i-100, or=300XTgo)•

7. A ....m paid away $7 out of ovory hundred he

had : how much did ho pay out of 200 ] 400 ] 500

1

800? 900?

8. A man received $8 for every $100 lout for a cer-

tain time: how much did he receive for $350?

Sol.—He received $8 for 1 hundred ; there

wore 3J hundred lent.*, ho received 3^ X 8

=$28 (=350X8-!-100:=r350Xi2fl)-

9- A man borrowed money for a tinio and paid $8

for ovory hundred : how mucii did ho pay on $550
'{

$525 ? $575 ?

In.stead of usim? the phrases 2 on every hun-

dred, 3 on every hutidred, 4 on every hundred, 5 on

every hundred, 6 mi every hundred, Ac, &c., we say

2 /• cent. 3 per cent. 4 per cent. 5 per cent, kc, »^c.,

the words per cent, meaning "on every hundred."

—

Note.—The .symbol % is often used for the words j^cr

cent.

10. How much is 5 per cent of $300 ? $400 ? $800 ?

11. How much is 8 per cent, of $325? $4501

$575?

Sol.—In 325 there are 3J^ hundreds .'. 8 i»er

cent. = 3J X 8 = 26. =(325 ^ 100)X8=
325xTfn, also =325 X. 08.

12. 5 is what part of 100 ? 6 is wha^ part of 100

«

71 8!


